
SCIENCE 10 FINAL REVIEW

January, 2018
General Science
 1. Convert the following:

    A.  24L = _________ mL  
B. 1200m = _________ km
C.  9.8 x 102 g  =__________cg

 2. If you have 100 cm3 of milk, how many milliliters of milk do you have?

 3. How many significant digits are found in:

     A.  1204 cm

B.  12.0mg

C.  0.0467m

D.  150km

 4. Write the following in scientific notation making sure they are recorded with 3 significant digits.

     A.  0.0003045m
B.  0.012mg

C.  12000dm

D.  1600.0mL

 5. List the Steps of the Scientific Method of Inquiry.

 6. Distinguish between:

     A.  Science and technology


  B. Observation vs inference

     C. Quantitative vs qualitative


  D. Independent vs dependent variable

Climate and Ecosystems

1. Distinguish between:

     A. Weather and climate


B. Radiation; convection; conduction

     C. Heat capacity and albedo


D.  Biosphere, biome and ecosystem

     E. Community and population    

F.  Habitat and niche

     G. Photosynthesis and respiration

H.  Endangered; extirpated; extinct
      I. Uniform, clumped & random distribution      J.  Interspecies and intraspecies competition     

     K. Population density & population growth
 L. Density dependent & density independent
 2. What 2 factors determine climate? A biome?
 3. Be able to construct a climatograph.

 4. What are the 3 parts of the Biosphere?
 5.  What are the 3 temperature zones on Earth? 

 6. Explain why water is a great heat sink.
 7. Describe the properties of Earth that are responsible for the changing seasons. 

 8. Describe how each of the following contributes to heat distribution on Earth and climate: 

          Atmosphere (include air pressure, winds)

          Hydrosphere (include specific heat capacity, phase changes,  water cycle, ocean currents)

          Lithosphere (include topography, heat capacity)

 9. In the following food web: 

      A) name 2 producers, 2 herbivores, 2 carnivores and 1 omnivore.

      B) give 1 example of each of a: primary consumer, secondary consumer, tertiary consumer

      C) how many food chains contain Chokecherries?

      D) What biotic interaction is there between the: mice & the shrew? Deer and lice? Mice and grasshoppers? 

      E) Which organism would be most affected by bioaccumulation of DDT?
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      F)  If the grass contains 9000 kj of energy, what amount would be available to the grasshoppers? The bear?

10. What 4 factors affect population size?

11. How does carrying capacity affect population growth?

12.  In 1999, conservation officers counted the white tail deer in P.A. National Park and found 

       there to be 2000 deer in the 6000km2 park. The following year there were 500 deer born, 

       200 deaths, 100 immigrated and 50 emigrated.

       A. What is the population change for the year 2000? 

       B. Calculate the density of the deer.  
13.  Be able to construct a population graph.

14. Be able to label and describe the importance of each of the following cycles:

      A. Nitrogen

B. Carbon
C. Water

15. What organisms link all of the nutrient cycles together? Explain.

16. How do humans cause changes in ecosystems that alter climate?

17. Describe the effects of climate change on earth.
Chemistry 
  1. What is WHMIS?  What does it stand for?

  2. A.  Why is it always important to keep in mind “safety” while in the laboratory?

     B.  Name 4 important rules that should always be followed 

 3. Distinguish between:

     A.  Atom; element; compound; molecule
     B.  Metal, nonmetal, metalloid

     C.  Physical change and chemical change

     D.  Chemical symbol and chemical formula

     E.  Cations and anions

     F. Complex ions, radicals; simple ions

     G.  Product and reactant

     H.  Valence and polyvalence

      I. Acid and base  

 4. a) Draw a Bohr model of a atom of Carbon.  Label and state the charge of each of the following 

         particles:  protons, neutrons, electrons, nucleus.  

     b) How many valence electrons does Carbon have?  Draw its Lewis-Dot structure. 

 5. A. How are the elements arranged on the periodic table?

     B. On the periodic table, which group of elements is the least reactive?  Are all nonmetals? Diatomic?

 6. How many atoms of each element are found in (NH4)3PO4?

 7. Give the chemical formula for each of the following:

     A. Aluminum oxide
B. sodium hydroxide
C. ammonium sulfate
D. Silver oxide
 E. copper II nitrate 

 8. Name the following:

     A.  NH4NO3

B.  Na2SO3

C.  Ca(OH)2

D.  Cr2O3
 E. CO2
 9. Identify the compounds in number 7 and 8 above as being ionic or covalent.

10. Balance the following to satisfy the Law of Conservation of Mass:

     A.  CaCl2 + Na3PO4 (  Ca3(PO4)2 + NaCl

     B.  Fe(OH)3 (  Fe2O3 + H2O 

     C.  C4H10 + O2 ( CO2 + H2O

     D.  chlorine + hydrogen (  hydrogen chloride

     E.  Carbon dioxide + water (  hydrogen carbonate 

11. Describe the Collision Model of Chemical Reactions.  Name the 4 factors that affect reaction rates.

12. Complete and balance the following neutralization reaction:

 H2SO4 +     Ca(OH)2 (  ___________  +  ______________

13. Name the salt formed in #12.

Force and Motion In Our World
 1.  Distinguish between the following:

      A. Scalar and vector 
      B. Distance and displacement

      C. Average speed and instantaneous speed

      D. Velocity and acceleration

      E99. Uniform and non-uniform motion

 2.  Explain how an object can be both at rest and in motion at the same time.

 3. The data below represents the motion of a cruise ship.

Time(s)
Distance from a buoy (m)


0
0


10
80


20
155


30
225


40
290


50
345


60
390


70
447


80
560


90
635


100
700
     a) Graph the data. b) Use the graph to calculate the average speed.

4. Jacob roller-blades to school, a total distance of 4.5 km. He has to slow down twice to cross some

    busy streets, but overall the journey takes him 0.62 h. What is his average speed?

5. In 1997, Thrust SSC, the world's fastest jet-engine car, traveled 604 m at an average speed of

    341 m/s. What length of time did this take?

 6. A downhill skier moving at 2.5 m/s accelerates to 20.0 m/s in a time of 3.8s. Calculate the

     acceleration of the skier.

 7. A baseball player running at 6.0 m/s slides into home plate and stops in 2.5s. What is the

     acceleration?

 8. Jason is coasting on his skateboard at 1.4 m/s and decides to speed up. If he accelerates at 

      0.50 m/s2 for 7.0s, what is his final speed?

 9. The following data represents the Launching a Space Shuttle


Time (s)
Speed (m/s)


0.8
4.6


1.6
7.2


2.4
10.4


3.2
12.1


3.6
14.2


4.0
15.0


4.4
16.1


4.8
17.3


5.2
19.1
    a) Graph the data

    b) Use the graph to calculate the average acceleration.

    c) Using the graph, calculate how far the shuttle travelled in 4.0 seconds

